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    An alternative addition algorithm using partial sums

An alternative algorithm for performing additions that students will probably find easier than the traditional algorithm is illustrated below.  In this algorithm partial sums using a basic understanding of place value are found first, and then these sums are added to produce the final sum.  The primary advantage of this algorithm is that it eliminates the regrouping found when the traditional algorithm is used.

1. First write the problem vertically as you would to perform the traditional algorithm:

     436
   + 178
2. Next Start on the left by adding the hundreds and record the result (think “4 hundreds plus 1 hundred makes 5 hundreds”): 

     436
   + 178
     500
3. Now add the tens and then the ones and record the result:

     436
   + 178
     500
     100
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   4.  Now add the partial sums:
     436
   + 178
     500
     100
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614

